SECTI@N 3] Test7
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1.6= a tenths a. . .

b hundredths b 160 hungredths
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3 23+25=% x6 R 8

; 0.78m = am . 78w

57 +3= e 19
: £1.CO—(23p+38p)= i p 3%
(6x6)-(Bx9)= ' IS
£350x &=1L  mmoo
5.6cm —38mm = = mm 18mm
10 ice lollies cost £2.50. :
Cne wilt cost = p. 25p

Tkg 6009 + 3kg 800g = = kg  5.4kg

: Write 864cm to the nearest metre. U111
Increase £4.55 by 90p. £5.45 :
- Write, in centimetres, the value
that is half of
a 68mm a _ 3.4
b 3.6cm. b ... 18m
Write each fraction as an equivalent
one With the denominator 4.
3 3
2l p2 ai__ba
Write as a decimal the total of 3 tens, :
7 tenths and 8 hundredths. 30,78
Find the missing numbers |
in this sequence. _
90, 81, =, 1, 54, 45 .72 83
: % =36y
Find the value of y. R .4
- Find the difference between - {
£0.50 and one-quarter of £1. _ 250
9 What fraction of 10 is 127 e Z%
10 Divide £8.40 by 10 and add 16p
1o the answer. £1.00
3.6kg = 6. Write the answer to j
the nearest kilogram. ___22kg
: Flnd one-quarter of 10m
ain metres a_ . 25m

16 tenths

10

a
12

Schofield & Sims

Write the part of

the square which

is shaded

a as a decimal
fraction

b as a fraction
in its lowest
terms. b

Which number other than 1 will divide
exactly into each of these numbers?

| 28 42 35 14 |

-

Find the
measurement

in degrees of the
angle marked Y.

SOY

A litre of juice has & mass of Tkg.
Find the mass in grams of

a 0.51 a._.

b gl b ..

5. What is the area of a corridor Z%m

wide and 20m long? Give the unit
of measurement.

aléda o

_40°

5009
1250g

50m?

Which bus

X YorZ

a arrives at
Notley at
703 p.m.

b leaves
Borden
at 7.30 p.m.?

Timetable

arrive
Notley |

18.03
19.03.4
20.03

leave
Borden

17.30
18.30
19.30

25cm of ribbon cost 14dp,
Find the cost per metre,

Alfie bought four yoghurts each
costing 18p. Name the three coins
he gave in exact payment.

How many 250ml bottles can be
filled from 211 of milk?

The chart shows the number of
minutes Toby took to walk to scheal
each day. Find the total. number of
minutes and divide it by the number
of days.

-20p

_.58p

20p- 2p

10

__8min

Monday Tuesday |Wednesday | Thursday

Friday

7 1 10 6

What number is 5 less than 27

The diagram shows the lengths of the
roads from Luca’s to Hassan's house.
Find the total distance in

a kilometres a__........h

b ‘metres.

Mental Arithmetic 3 Answers

‘8 Multiply 8.33m by 100.

© Write 397 as a decimal fraction of £1.

¢ What sum of money is

- less than the product of 15 and 10?

39467 = 106
7 01+10+0.06= 1016
3 2h-28min = # min __ __32mi;1 ;
4 500- (40 x 9) = 140
:5 9cm + 10 = "amm _9mm
b B=6x6= 36
T (9x6)+(3x8)= T8
‘g mlx10=4 _400mL
‘9" 1.4kg - 850g = i g 5509
o £1-(8px6)="7p . 52p
‘1 4 of £56 = £49
12 6m =4 = cm 150cm

: Write to the nearest whole number.
a 85
b 113

a9

£0.39

How many times can 0.2 be :
taken from 1? 5
How many days in :

azes

a ayear

b aleap year?

equal fo five times 88p7. £440

© Which cf these fractions is equal to %?

16 15 16 12 15
20 20 24 18 20

Find the difference in gram§

between Tkg and 0.3kg. 2089 ¢

833m

49: By how many centimetres is
2.46m greater than 1.95m?

. 51cm
Add 8,13,10and ¢ and divide by 4. 10

By how many is the sum of 15 and 10
125

: Rearrange these digits to make the
. largest possible even number.

8740

39

10

n

12

SECTION 3 | Test 8

1. How many grams less than 5kg is the

total of 2.7kg and 1.5kg?

. What 24-hour time is 15 minutes

after 12:55?

How many 7p sweets
can be bought for £2.107

A The perimeter of this triangle
" is 75mm. Find the length
2\ of the side AB.

e

- Which three coins are given in change

from £5 after spending £4.767 20p

R e —— erte the amount
ot liquid in this jug as

a a decimal
fraction of 1L a

b a fraction of 1Lin
The cost of 23kg of rice is £5.50.
Find the cost of 500q.

1 5 4 Find the
- o missing number.

Find the difference between Cl and
XLl and write the answer using
Roman numerals.

Name this triangle by

a its angles

A ' b its sides.

The readings show
———— the number of
10000.0 | kilometres travelled

— by a car before and
after a journey. Find in kilometres
the length of the journey.

The chart shows the length
and breadth of four rectangles.
Which two of the rectangles
have the same area?

w X Y Z

4cm

length 5cm 8cm

breadth

7cm

3cm 2cm

1 1
12Cm ‘I"i‘cm

its lowestterms b

..800g

13010

.30

__34mm

20 2p

.87

el

a acute

b equilateral ¥

3.2km




